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ReforRee ﬁégv; General Instructions : r
) #WW?W# VIeT AN 37T G&A & YIeid FNAT : Read the following instructions very carefully and strictly follow them : =
vt 1w &1 - \ (1) This question paper contains 34 questions. All questions are compulsory. ’*

(1) Marks are indicated against each question.

(iit) Answers should be brief and to the point.

(iv) Answers to the questions carrying 3 marks may be from 50 to 75 words.
(v) Answers to the questions carrying 4 marks may be in about 150 words.
(vi) Answers to the questions carrying 6 marks may be in about 200 words.

(ii) mmewmmmm

(iii) I Ghere 7or fgar &7 T1kT |

(iv) 33{#%%#’%%750 & 75 Vi) § forg w3 91T |
(v). 4 W%W%mmzso gl B for@ S SRy /
(Vi) 6 3] & 3¥71 & I TIHT 200 Y2} B 1@ 713 FRT |/

(vii) 3% 597 % T 4T % IR TP G Io7@ 5717 F113T | (vii) Attempt all parts of a question together. $

;, ;

!’ e

1. 98 @& Ul ggienor 89K | 1. It is the process of designing and maintaining an egmronment in which k

" SN ﬁﬁx ST T St wifshar & e Fﬁ’! g | HH T §Y | individuals, working together in groups, efficiently accomphsh selected

n AT " Sfsha St gge™ IR | 1 "aims.” Identify the process. 1

e (B) @A (A) Management 4B) Organising *
(C) frgimetor (D) fesm 2 (C) Staffing (D) Directing ?

2. Kavi works as a Marketing Manager in stationery mart. It deals in various §

2. WY RIF AR F U U Yerus F w9 F1 w1 € | 98 R 29§ aga @ et & types of stationery items for many schools across the country. When new ;
fore faft= yor Y Ry w6l § se-21 w@ 2 | 59 e § 991 99 ST BlaT g = session starts in schools, Kavi forecasts the sales les of different stationery »

Hid srf%mz T Torermera Y faftm Ry st $ fsht 1 qaigae o @ | &t | products for each school for every_rmonth All items are represented in |

ugl ! TS 7 wefdfa ferar S 2 dfh 38 Irfae fasht it argaTia fesht B gor ! numbers so that it becomes easier for lnm to compare _Ehe actual
HEHT ITEH 8 1T | 1 J sales with expecitieg sales. e 1 b
i e e ¥  . '(12:( tg;;e ct)f plan discussed above is :(B) o
| rategy . Policy

(1) = (B) if (C{ Programme (D)~ Budget -
(C) Hrdwd (D) &% ' | 3
| 3.  Given below are two statements, Assertlon (A) and Reason (R) : 1 3
: | Assertion (A) : Directing facilitates introduction of needed changes in
3. ANAFITME, ; (A) T HR (R) : 1 - the orgargnzatlon <
YA (A) : fewm W T STTavae TREdA! %! TRH A H 7GG HLdT 2 | Reason (R) : Directing increases resistance to changes in the 1
%I (R) : ﬁiﬁ?mﬁﬁmﬁ%mﬁﬁﬁﬁﬁm% l organization. :”
Hr2 feu o faereqi § 9 981 faeeq =1 999 Fifve Choose the correct alternative from the alternatives given below : ;

(A) CHT 3RERYA (A) 7T SR (R) T & 7T FRO (R), SR ( A)EF»TH@W? | | (A) Both r:rsseritiont.(A) afng Re:eon(A(R;) are true and Reason (R) is the |

B) sy (A) T 2, AR ®) 2 - :):re:t.exlz:)rra :onob etss; ion ) & |

0 A) 3 R) T N | sertion (A) is true, but Reason (R) 1s false. |

( A AE &, Tep FR _AC) Assertion (A) is false, but Reason (R) 1s true. ‘
(D) 2T A (A) aU1 HRO (R) T &, AT HR (R), AR (A) el ] . (D) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the {;
0 & 2 | | correct explanation of Assertion (A). |

[ P.T.O.]
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q YW ¥ g wor B i ot Ardw Y rravasar B S T T fra &
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WA TERI § T T T I Y qER A IARS F Rve e fifre g amiw
i =t s w0t et R wess = o § v, Tr

(A) SuS-Tfy (B) 39Tei 1 T
(C) <Y &1 TR (D) wafg gam

FY -1 : Agftramu yaua wfshar 1 98 Wi & St 48 U GqE A a1 HREd &
SRR, ITENT U WETETS @ TR g |

S99 - 11 : Fgfretr w et 5o  areft afsran 2 |

f&q e et % wed #, fafafeq § & w8t fases &1 =g7 Hifv

(A) TR FFATAE | (B) i HUT IEAE |

(C) +HITAE, RgFH I ITIE | (D) FYATAE, WgHFIA [ SEAE |

39 FHYF FT TI9 FIT ST Wl & AR Gl 1 ITEN HH &% o W T8 ol 8
YRS STl 2 |

(A) I8 =74 $I Uisha1 I Gl &914 J GEET FAT 2 |
(B) wHETRE! % 999 % 949 Ig J& foehed YgH HLa 2 |
(C) & |Te 8§ 991 GA/Sfewr arar 2 |

(D) I8 T 9EM UG AF o s S dia 2 |
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(G)y Stability of Dividends

CVX Ltd. was a leading company, manufacturing home appliances like food
processors, juicers and mixer grinders. The company was earmng good
proﬁts and was paying high dividends to its shareholders conalstently The
company now decided to manufacture soup- -making machines, pop-up _
toasters and eleetpe_lggns The company wanted to enter into emerging
markets out of India also. Entering these markets will require additional
cap1tal investment Wthh will facilitate in production and distribution
infrastructure etc. For this, the management decided to retain money out of

——

their earnings to ﬁnance the required investment and distribute smaller

dividend to the shareholders.
The factor affecting dividend decision which was kept in mind by the

R —

management of CVX Ltd for entermg into emerging markets ‘and

launching new products was :
(A) Amount of Earnings

(B) Stability of Earnings
(D) Growth Opportunities

Read the following statements carefully :
. Staffing is that part of the process of management

which is concerned with obtaining, utilizing and
maintaining a satisfied and satisfactory workforce.

Statement - IT : Staffing is a continuous process.
In the light of the given statements, choose the correct alternative from

Statement — 1

the following :

(A) Both the Statements are true.

B) Both the Statements are false.

(C) Statement I is true, but Statement II is false.
(D) Statement II is true, but Statement I is false.

Choose the statement that correctly highlights the benefit of using internal
sources of recruitment. 1
@}'r)/ It helps in simplifying the process of selection.

(B) It provides wider choice while selecting the employees.

(C) It brings new blood in the organization.

(D) It is an expensive and time consuming source.

~

[ P.T.O.]

.W > T.‘.ni “.I"_"‘ ..7-;'- :

RE L Al g A

L & 54-

MRNAT R, e i
5t )

TN TS SR vy C—AINSwP  WRCTIR) PR PO cmRG VT ™
N ’ 4 e : o . T3 : 5 RS .. s

i a0t "‘*’F"""’W’ RSN TR

TR T o “-.—r-r_”T* D220 prane
’

aed % Ml

E— — . ——
S s

—— e Y
¥ -




A - —

7' AT T T HE1 ) 7 S § v weErd H w9 F H1 H @Y7 | T8 G
mmﬁammwﬁmaﬁmmmwmm I@WWWWM@’
ﬁﬁmwﬁm%wmmmmmﬁmm
IE IR HEEN w0 w1 HQ ) g0 $ F Ia) 6 W H TS S ¥ &
TRITR T e e R vret ww v wR 1 | 9 gg el it qEw o o e
T SRt 1 it e e @ Agada S o aed WYE TE o | 36

' in a readymade garments factory. He

was very sincere and,dedicalerl--and_g,lg:{gys completed his Kor}giq time. It
pained him to see that his colleagues were reluctant to do the work even

thdugh they had the ability to doif.
Due to his good behaviour and willingness to work, he was promoted to the

post of the supervisor of the same team in which he was a worker earlier.

He understood very well that it was not always possible to get the best of

ercising formal authority. He had

IO ——

3 &» a‘—— -"l‘v‘" I — '
g ¥ : PR YT T Y sl
. o .

pr

volume of production and sales. As a result, the working capital

requirement of Isha Sweets’ became higher.
The factor which led to an increase in the working capital requirements of

T 9 AT | S AT % WG g edl & A1y Jeareq aw farshy Y R A 1 S e
& fore arfres wran & 18T 61 aravaEHar oft | TSy Sun wied' i Hrfic goft i

. ] . work from employees merely by ex
:%ﬁ:fzzlﬂﬁwgﬁﬁm;ﬁ?m ol | 9§ ST mﬁ;m?@ﬁf i insights mﬁflﬁpé‘—ciuses of behgyiour of p_.e_a_qple.fHe knew how to get Elﬁe
¥=o HTERT S § | 6 T b work done by the workers 1n a desired manner to achieve the l
FETRE 7 +ff PGS TG THEYO &7 8 F FET IAY F eI St FH S H organizational objectives. Under his supervision even thj worWho »
Jf=gs & | were reluctant to work stamﬂmkihgﬁﬁéﬁn@.an@fﬁctway 5 B
frfries 3§ & 3a sraumon € vem Eife Rrae anT 37ae g T e S €93 From the following, identify the concept used by Atul, as a supervisor to get k.
%7 ot 3 3 fora fsar . ) ~ the work completed : . . . E
- - ;‘ 4X&J Leadership (B) Financial Incentives L
(4) e@ﬁ (B) faxfia wicamgs (C) Motivation (D) Non-financial Incentives E
4 ) - ' 8. ‘Isha Sweets’ was set by Isha Sharmﬁ_tq 1_1}{_6_3___,.:)3:'19 tanld dsen O(Iiifyanfix:;i:eag%n {
weets alternatives like hazelnuts date 1ad00s, uit date :
8. S w3 My, WTET qUT WreeAaHE fieTEdl & fiwe, I8 FSEH T & TE, ‘; l?sxd%l,j %’?i%t‘lgdsmg}i;:mdate otc. For the last many years, the demand for her i
@ 19 3R TR | & a1, wat Aoree @R N §9F § 9= % fog 0 =@ H | products was very high as people these days prefer to buy healthier -
T 1 | Rost 5o 791 & 369 I Fi 7 aga At oft Fifs SAroeher T STHT { alternatives for consumption as Wfin,fs g‘f;“ﬁhgi‘rg‘:.s"’:aig‘l‘tts tﬂ;ﬁiﬁ t
: dry fruits an o
- 3‘7'6’71. o % fere W forhea 5 T TG A § | b ¥ a'é '* ;:gs;%;gﬁ%; astve;/s;et?had increased. With ;%ﬁl—g_price‘s_ of raw %
e T gl = R e & s g T aTet o, @ el U S g I | materials, larger amounts of funds were reguired to maintain a constant b
4
;

E
},t,'f
1 5

ATITIHATE 3fer B 778 | |
“E9T wiea’ it wrfsfier goft srmavasmarsi FTE X BT . | ‘Isha Sweets’ was :
TR — S ik Sl " &, TR : : ' (A) Availability of raw material —(B)" Inflation ;i
f C) - (B) HpreHlla (C) Scale of business (D) Production cycle =¥
) 99" 3IdTeA
0) - 9. ‘The process of organizing allows a business enterprise to accommodate.

changes in the business environment. It allows the organization structure

tobe suitably modified to pave the way for a smooth transition.”
The point of importance of organizing function of management highlighted

:
|
:
in the above lines is : 1 f
|
f
{

9. ‘G YhRA EEie IHEAl $ EEaE gie giEddl o garted g4 i
IR FEH HTA § | I8 IS WEA § Yaghg W H 9GS Tadd adr S

G % FINGAI § IOTHA 1 AR 90 B & |

s et o s it s e & P g o e d, g T B) Clarity n working relationsbips
A) fafirdten &

(A) o (B) A § Gl T TEHH (C) Optimum utilization of resources

(C) EEYAl & HAqheTdH 39N (D) uftadHt &1 AqHeH @)° Adaptation to change

; *66/2/1* [P.T.0.]
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. ] £
fehaaT =Ty T R U ITe F T A T I G THR H T TIH \ ' % ug’f?r. uys .a productj-oxf service for what it does for him./ her or the
a1 2 : (i) gt . i) s e . : enefit it provides to him / her. There can be three type of benefits, a s

(A) Tl , (i1) FHTR G110 R N2 1 consumer ng_ggekwvsatig_fy“&omwthe purchase of a product : (1) Functional P

©) i (B) 3Tffes & benefits, (ii) Social benefits and (1i) .....oooeereserocorereneen 1 f'

o (D) TFIEROiT T (A) Technological benefits (B) Economic benefits -

Psychological benefits (D) Environmental benefits
11. Friy o.oe, fefe & &y gi
A2 T ITEH YU & &9 § H1 B @I YT, T Th Feifagehed
S Tt g 21 A O s il on 11. Nimesh was working as a Production Manager in H.L. Ltd., an electrical

A< YT IS99 § Qamf 1 1 A S T A, 16 17 B wire manufacturing company. One of E,lze_-_ye;doxg Who_,waS_suﬁbﬁg f
Gtk ” §¢ HET TTEAT U7 Rife IY 794 ¥ & T fagw s ur | faskan copper to H.L. Ltd. wanted to close down his business within 15 days as he
.RI'&? 60% BT W 9= @I 41 | Ay % 39 amft g & W T had to go abroad to live with his son. The vendor was selling all hiistocks\ -
et W ! TH U3 RraT | Af6T FoR Fran qur e IHHAT 3 RO Helt STH . at 60% discount. Nimesh wrote 2 letter to the General Manager to seek P
A H <8 8 ¥ 3k arve 7 e s we approval foi‘:gl;gcurement of this material. But due to rigid rules and 2
ey Y 97 9747 g T WhEa & 3 §_§ sl ; cufnbéiéfqgé;gocecl\g'es Ehere was delay in getting sanction and ordex; ‘

iy e e . (B), : 1 cou'lii not be plgced. S | | 3
(C) TTefys RIS ST The type of communication barrier that led to procedural delay was : 1 e

bl (D) =aftRTa | :% (A) Semantic barrier (B) Psychological barrier l

| | | (€) Organizational barrier (D) Personal barrier
12. & = 1 A9 el i 1ew A a1 A9 ¢ Hi A F i FrATE HH B ! i
TSR FEaATaT B ‘ 12. ‘The right of an individ}lgl tggqmmand his subordinates and to take action ‘&

, 1 | i : ey s : |
A) frfem B) w(;;l)hnll)tl}e stcolifz oi .hls position’ is called e ;! e
HITHR | ecen 5

C) s s _ rz? 1.z.a ion (®) Authority g :L

| (C)—Responsibility D) Accountability |

13. IUYHT ST srffrm, 2019 % S paddadarsur i} 7 : ] @ {Xs per thc‘a? Consumer Protection :f}ct, 2019 which of the following statement f
A ' . - is correct * A | '

(A) 3fe sraqe var e s % MRy & Tqe 78 & @ 98 99w s i e AT . | . . 1
FAFATE | i ) ];1 case the aggrieved _party is not satisfied with the order of the i

: § istrict Commission, h directl :

(B) gfe 318@2.‘1&? Srer 3 & 3evr @ F@‘-’ 2 d 9z £ gats 3 | C;[; e lon, he can directly appeal bgfore the National ;

= , ¢ (B) In case the ggg_rifvef_l party is not satisfied with the order of the District

(C) g 3rEqe 9& TS I & 1Y ¥ HqE 781 2 a1 98 99 gars =A™ 7 a7 Commission, he can directly appeal before the Supreme Court. [
HFHAT ¢ | | i @Q In case the aggrieved palj'gy is not satisfied with the order of the ?

(D) afe W & TH SR % R A H@E 0 K i . £ ; State Commission, he\can directly appeal before the Supreme Court. .f
qHar e | f fD{ In case \the aggrieved party is not satisfied with the order of the E

1 " National Commissi

“66/9/1% ? mission, he can appeal before the Supreme Court. %
(97 [ P.T.O. ] |
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14. mmmﬁaﬁhw f ,!;l|'llllil’llnlllfll : 1 14. Identify the dimension of business environment illugtrated by the given
picture : 1

i o 5

(A) Social ' (B) Political

t J(%g Technological (D) Economic

, For Visually Impaired Candidates :
mmﬁ%m ; .". Shifts in demand from steam locomotives to electric engines, from
Y9 o 599 o faea %T%a S5, I3 99 4 &7 tars’z ¥, TR A W e | fountain pens to ball-point pens, from typewriters to computer based word
vIeg Tiswaor i 7i § wmma fefafed § @ smaafies waia 3 59 3mam 6 processors highlights which of the following dimension of business
RIS T 8 7 ? | | .— | environment ?
(A) 1fefes (B) weiifirdr | (A) Economic (B) Technological
(C) usfas D) @ . . (C) Political (D) Social

*66/2/1* [ P.T.O.]
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15. ﬁﬁmmwg,m(A)wW(R) 1

FNHY (A) + Pl 3 e e wfrea 3 forg e w8 1

FRO(R) ;PR w1 R R da & watem a3 R s B S

ST @ @ WA HET R |

19 few e et 3 & wdt fvevea 1w g

@) ﬁm(A)WW(R)mﬁmmm),mW(A)aaaam%|
(B) T B (A) 7o w (R) T §, weg wE (R), AP (A) B

SATET T8 2 |

16. Hiew-1 ® § 7 IWF Tau A et w1 Hiem-11 § Ry T I ad ¥ e

I : 1
e - I e - II

() HHETG A | (1) T AP v gemeT & e A € S et foe e
% B B F o Y I & Y IIET, FTEGIHT Bl &,
ST AT T FEe TG |

(b) Tfat 37 (ii) 7% forelt & 1 Q1 T o foTq TR % 3Farel shi 3T fe T
ST T Ao LT 2 |

(c) 9T AT (iii) T8 TH T IRAG HE B [ HH & [A¢ G G0 I
frafor s 2 | ‘

(d) ¥FH I | (iv) T e S &1 HE H Th G998 Tgha F Ui e |

= fou e faepedt & & 98t fyspeq 1 997 i :

@ ®) (© (@

(A) () @) @) (>(v)

B) @ Gv) @) (i)

€ Gv) @) @) ()

(D) @) @) Gv) @)
*66/2/1*
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15. Given below are two statements, Assertion (A) and Reason (R) : 1

Assertion (A) : Planning involves looking ahead and preparing for the

future. —
Reason (R) : The purpose of planning is to meet future events

|

effectively to the best advantage of an orga_{lization.

Choose the correct alternative from the alternatives given below :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

orrect explanation of Assertion (A).
/B)/;oth Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

16. Match the techniques of scientific management given in Column — I with

their meaning given in Column — I1:

Column -1 Column - 11

(a) Method Study [(@) It refers to the study of movements like lifting,
putting objects, sitting and changing positions etc.

/ which are undertaken while doing a typical job.

(b) Motion Study( (ii) It determines the amount and frequency of rest
! intervals in completing a task.

(¢) Time Study [(iii) It determines the standard time taken to perform

a well defined job. ‘
(d) Fatigue Study |(iv) It determines one best way of doing a job.
Choose the correct option from the options given below :
@ ® @ (@
A (@) @) @ GaGv)
B) 1) GQv) @) @i
) (Gv) @) Gi) @) «
(D) Gi) @) Qv) @)

*66/2/1%
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I 2024 F I a5 A 3% TRrd &7 3 T A 7U1 TG 5 IR &
T 1 RIS 7ga st & e o1 1 off ok el a6 aga ot wwnail 1 A TS

T o1 Feh $7 IqTé 3 ot eireRial =) e e e |

T TR HT 19 I3 gL 7o RyenieRi £ gemar 0 F R 0. A’ 3
T F TR Y AEHATH & e AT | IR I O e Fl B AR
T e S5 § wiafia w3 @ fioly e | swR Rt % R smavs o
IS & @M i ot 7 gew R g 0 w1 vk R | 39 15 3 39 a5
T &3 T QT I Agwqol SATh I7rid Y |

I TRufr & warwr Y g frdiwar v gren 2, TR R
(A) Y& TH TR 5o aref i g |

(B) &1 T 377 WIfes 2 |

(C) &4 T Mfasfia 1 2 |

(D) Y& T Arfes T 2 |

18. ‘=aTS %1 Iufedfa S8 Tl foefia wuRt & sror awar smwenfEr & afsia @ 4 gfg’
HET & :
(A) faxita farem (B) @ fAvig
(C) forftam fvfa (D) WW:&’TW
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17. Akshara runs a business in the name of ‘AK Solutions’ in a well reputed

area of her city \ivhere people provide spaces to students as library, as study

centres and as training and event centres to businesses. Akshara provides

. - r mectings and
OW@Q&@ to big and small enterprises for their meetings .

———————— - S — _..q/.‘

————————

events.

Suddenly, in July 2024, floods affected some libraries ind study centres in,

-_— . —

her neighbouring area. The exams were fast approaching and students

— —— A —

o

g S—— e ——————

closed.

Taking advantage of this opportunity and to help the ‘studen.t(s ‘AK
Solutions’ adapted itself to the needs of the environment, they decided to
convert some of their c;ﬁfefgnce halls into libraries and study centres. They
also decided to provide food and other facilities required by the students at

subsidized rates. This initiative increased their business manifold and

earned them significant goodwill.

The feature of management highlighted in the above case 1s :
(A) Management is a continuous process.

(B) Management is an intangible force.

42) Management is a dynamic function.

(D) Management is a group activity.

Increase in the profit earned by the equity shareholders due to the

- presence of fixed financial charges like interest’ is called :

(B) Dividend decision

$H)—Trading on equity

~

(A) Financial planning

(C) Financing decision

WWproblems as these sgugy centres and libraries had to be

B —— e s i e L SR Ll on s o bt ai | e it arans £ L0 e L I L e Ll B o R o e s e o S ha iR L L B RS A glE L e Sl T o L R e o e L R L S LU S s ——
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PH -1+ 9 ) AT e 6 e s R |
P~ 11 5wer St % SifRew ) ame soreranatl & SRaw H7 g 2 |
mmm%ﬁa\fﬁ,ﬁqﬁmﬁﬁwmmwmt

B) HFETEE (B) QHi %Y 3G E |

C) FF-ITIR, FR-IImaR | (D) FoR-Il TR, FF-1 AR |

20. IR AT F o6 Fremnat H R w0t qur e # @ A e o gm w

TR Iy e & ) vt Frferiad 3 & Rea smumon § S e 7 1
(A) it g (B) fa<fta 3o
(C) fo<ita fgiom (D) fraw foi

21. (a) Y EAWER (RiF wEEs) & F=feriad HT o GHEET : 3

(i) Teremm sfayfadi =t gaar va fauorian 3ucey ST
(ii) sfayfaa 1 g
(iii) S-S i gan

AT

(b) Tl o farmgail & amum w ‘srufies aeiR’ vd ‘fediae e’ # s Hitg | 3
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19. Read the following statements carefully : 1

Statement -1 : The cost of debt is more thg_r_x_f_he cost g_f g_qp_ity K

e e — B

In the light of the given statements, choose the correct alternative from

the following :

(A) Both the Statements are true.

K

(BY” Both the Statements are false. 1

(C) Statement I is true, Statement II is false. >

»

(D) Statement I is false, Statement II is true.

20. ‘To ensure that enough funds are ‘available at right time to honour the

e — —

commitments and to carry out the plans’ is discussed in which of the

—

following concepg? 1
(A) Capital Structure (B) Financial Leverage
Gy Financial Planning (D) Investment Decision
ﬂ/ (a) Explain the following functions of Stock Exchange : 3
(i) Providing liquidity and marketability to existing securities
(i1) Pricing of securities
(111) Safety of transaction

OR

(b) Differentiate between ‘Primary Market’ and ‘Secondary Market' on

the basis of any three points. 3
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22. M%h%%ﬁnmﬁq&mﬁﬁﬁmmmﬁm-mﬁmﬁw

mWWMlmﬁwmwmmaﬁ?mMWaﬁmﬁl
S TS ST ST 3 g W Wk 3 fte B ST 1 AW F 0,
ﬁﬁwwmﬁ,wmmmawmmmﬁmm
I HT 9 TR % e 36w A R v 9 Prafs ) | R e 3
TR T TR e 3 131 3 s 35 Ry vl 3 et 3 e e
ﬁaﬁwwmwzﬁam—mﬁ@m | faeeht, St SRl-g9r o7 TR ST
% it 9TeRl it Yt 3 fora swrerd en, et i g 3wy i @
SR T 1 wgran 24 3 srewed T | wRomeREy, S v Ao 6 SRae-fee
T T e ferdaanait 1 wmen T W | 3u weet e widh ae #1 3E F e
& TR F forvar feemt & ft sremel @ | ‘
() 3w fRufa & afifa sremon @1 vgefye |
(i) 39U (i) § vgar 7 FrquRoT F TF UHEAT % ©9 F gReniya R T g 2
foraes faft=r o & | 39 wfdkan & wem ute ol 1 Soor@ iR |

23. (a) “OSft AR’ @1 e AR | Gl AR w g AR # Prefafa smar w
=g Hifr ;

(i) HFTEH

(i) wor@

AT

(b) It wfayfa wa fafma 91 & ol & frmeeat srt &1 Seo@ FHifv |

~v

3
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parlours in various cities of Imry Initially, the business was doing
well and her products were popular. Despite ‘the high quality of the
products, Radhika faced difficulties in certain pgﬂours_, egpecially in ;

R

Kagpur city, where her products failed to gain a strong market presence. 3

To understand the cause, she appointed a qualified marketing manager.

The marketing manager discovered that there was no proper exchange gf

R ———

/

——

———— L —— oo

facts, ideas and views etc. between the incharge of Kagpur city and the
employees at different parlours at Kagpur. Vicky, who was the incharge

and responsible for overseeing all parlours in Kagpur, was unable to
sl 3 ;
effectively fo di

e — — -

L ————— e e —
o~ ———— —

f the product among the

————

employees. As a result, the employees did not grasp the key benefits and

Teatures of the _h_igb_clgas“fa.cial%i’ts/,.ln turn, the employees were not able
aru

to convince potential clients about the product’s value.

— e ———eee - a——

SR

(i) Identify the concept discussed in the above case.

(ii) The concept identified in (i) above can be defined as a process having

various elements. State first five elements of this process.

«237"(a) Give the meaning of ‘Capital Market’. Differentiate between ‘Capital
Market’ and ‘Money Market’ on the basis of : 3

(1) Participants -
(11) Instruments.

OR

_(by* State any three ‘Regulatory functions’ of Securities and Exchange
}
Board of India. ' | 3

il £ 08

~
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/@ Radhika started a business of supplying high class facial kits to beautz'
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24. I, T Ia1 W0 o w0 Q X TR W A T o7 | I @A a3 I T & 4 /@ Aman, a young graduate was living away from home in another city. He
T | S ¥ e v i i v v fka fera | 9 A had problems in cooking and heating food. He decided to purchase a
O G R 3k i 3 e e sie ) R aeE A ge A | microwave oven for the same. He went to the market, visited many shops
ST A SR % IFER § | AR GATE HA & {7 Feh faanat, 99, and cpbpa;?dj various microwave oven brands available in the market. He
sFa St S o e ) weftamatt anf < g & | | 3 compared features, price, after-sale-service and customer reviews etc. to
mwmm%mmmﬁ%mmmmmasnmwmlm make an informed choice as per his needs. | 3
399 AT $ T, 9 g L SRR A —— - - Bzer selecting the  oven, he chec}cFed that it should have a.n.ISI_ mafhﬂns
T YETR I8 AIEHNT SNES ) R T T 37 % gy & Rl 3 R H gave him confidence about the safety, standards and q.uahty of.' the oven;f
T TR | T R T e I @ TR SR & T § wErE Rt After reaching home he followed the manufacturer’s instructions for safe

installation and use of microwave oven. This helped him in avoiding any
THT T I 3 AT e i Al Saci - ins
e e b bt risk associated with the usage of microwave oven.
W 36 TR B It wt g s @ | . g

, ﬁy doing all this Aman kept in mind various responsibilities wl;@e
W Tl fi seerhrestt = Ieer HIfda | p;;chasmg and using the microwave oven. Still he left some of the
responsibilities that ;re;;t fulfilled by him. >
25. (a) WaTE g R TT ey & Fr=faiea gt =1 amemy : 4 State any three such responsibilities.
: |
(1) - ﬁ“m ; X ’ C/Zé/ Ja)” Explain the following principles of management given by Fayol : 4
6h . it | (1) Division of work™ -
| . il (i1) Authority and Responsibility -
(b) o= % gt 3 wae & Preferie famgait 31 wwee 4 OR
(i) Yei HI JRAfaHar oI mﬁmmmm I (b) Explain the following points of significance of principles of
(i) HETEH 1 rfrman ST TE T S | management ; .
- (1) Providing managers with useful insights into reality. —
26. (a) W PrERiRed fvaTe 7 ausET g (1) Optimum utilization of resources and effective administration.
() 9= A SATE! H ChTeashal a1 ¢ | \26:” (a) Explain the following features of co-ordination : 4
(i) Gu=F gt Je~! F1 ITEAST & | ' (1) Co-ordination integrates group efforts. —
S7erET | (i) Co-ordination is the responsibility of all managers.
| OR
(b) S I FAfeTREa et I FHETET T (b) Explain the following features of management : 4

(1) Y TF AU Ufhar 2 |
(i) Y& & A g Tl 9iEFaT g |

(1) Management is a goal-oriented process.

(i1) Management is a continuous process.
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27, TR Seh 5 et e o ) g e el oty 8 4 | 0 et e e e 3

ST 8 T S 3w 3 e & v ) g @ R S O T e T
P T § A | [oAm F g § 8w R ag s 3 3 e R, Frd
S-S T 12 Y v G 0 | i 3 e 3 7 3 7 5 7w 3o faf @
S ST I I w1 T e of | ran g B 38 A gorTTHRT A T A
TS off, 3ra: IE 3% Re u Bier a1 syaar wfie FQ 1 vk fran | fw 16
Rreg weftt @ ok gt St w B e Tu S T % R 15 wehEE B
e far | fren 3 ol ol @ gt St 6 s 6 ok @ e BRI
RIT S 1 WIThT hY g o 1 TR I ST bl AR Y ST o 3T 3 BT A
I & Tlie T | . 4

mﬁwﬁﬁﬁma@ﬁwm,mm%mﬁamwﬁﬁlm
TR &l 15&?%%150@%3%?30%%%%«@6%@
ST ST 9T |

15 &7 & =g, fran =1 9 i1 3 @ sraam w1 Wy @ off, g 6w {6
ae-1 ¥ 150 QY QremeRt St T 30 W e i X A S B A AT SR AT bl
I et | agg-1I 15ogrnﬁq‘rmaﬁaﬁ?35srﬁrmﬁatﬁaﬁmmwémm
T! TaTH TYR-111 FacT 140 G TP H i HTh T FAT1 1 Fh1 TAfebA T 27

uf?ﬂﬁmﬁamaml

@ 3 I gEe § R 2 g IR dH wE A @ e g i S e A
STIUTONS ! YETHT |

(i) I @) & TeaEh T smuTonst F o AR sk oo i s w6
AU Yo & oI Agwagul g 3R i 7
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Beenu. After a few days, Nisha was happily surprised when she
saw Beenu wearing one of the dresses beautifully refurbished. On
enquiry, Beenu told Nisha that this was done by her daughter who had
just completed her Class 12th studies. Beenu also told Nisha that she was

a little concerned as her daughter did not want to study further, Nisha

was very much impressed by the creativity of Beenu’s daughter, so she
decided to setup a small business for her. Nisha bought 15 sewing
machines and appointed 15 girls to refurbish the old dresses. Nisha also
arranged old dresses from various sources and employed a person who
will sell these dresses at a very low cost for the one’s who could not

purchase new resses due to their low income.

Nisha divided the girls in three equal groups, each having five sewing
machines. Each .group was given a target of refurbishing 150 old dresses

in a fortnight with a cost of Rs. 30 per dress.

After a fortnight, Nisha who was supervising this business with Beenu

——— —

was informed that Group I was able to meet the target by refurbishing

S ——— ’

150 old dresses at a cost of Rs. 80 per dress. Group II was able to

~—— )

refurbish 150 old dresses at a cost of Rs. 35 per dress, whereas Group III

———— e —

could refurbish only 140 old dresses but at a cost of Rs. 27 per dress.

(1) Identify the concepts of management discussed above for each of the

three groups giving reason in support of your answer.

(1) Give meaning of the concepts identified in (1) above and state which

one 1s important for the management and why ?

~

7 Nisha had given some old dresses of her own to her house-helper

[ P.T.O.]
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|||||“||I|M“||"|“||lll " Prachi is working as an academic. counsellor for specially abled students 5

28. S, s e amet vt Y ware we ey 3 ¥ forg e sy forarer @
Lo " at one of ' the top school to p_r_made special support : and guidance to these

. :
Rerfres wrmsierar & w0 § 1 @ R | 3 ﬁ ) vre w9 § wgr @ fafte @ students . She he clearly states. in advance the methods of teaching and
foenfRiat <Y anenati =) e & qle] =) 3fcefaa =t fea 2 | 98 I8 Eﬁ%—“ HTd! & tackhng the students. She epsures that t__gQ_&l&_&}Z/ﬁleaﬂéLStﬁtﬁ-d—er
fop ye areaTes & we B §Y Y Ioorg fpa1 g dTieh T 1 fapan ST 2 3R ea;H—and_every teachér so that they act as a guide for deciding v what
fra i e s S Rre 7= T TrtesiE 3 w9 & B | 4 ‘ a@ould be taken and in Wthh dlrectlon 4
s N . | o T * Her well laid plans will serve as a basm for coordinating the act1v1t;es and

TR TE N S TR Ao 7 it w1 T efforts of teachers teaching different subjects to these students It helps
TS & FE g Y979 oY & o w 3R IgH HUil | T8 SEATIH] I the teachers in brmgmg clanty of thought and action to thglrjg_og{_
S & fo7e oo we & ) wqwar o & e S € | | Identify and explain the two points of importance of Planmng’ﬂ {f/t‘l/r:ctlo?w of
s Fede # ey ¥ Rdiem w1 % nee % B A ﬁgaﬁ T TS ST T & 3R management highlighted in the above para.
bohigl Lo g Going to gym and following a protein diet has become a popular trend
these days. However, with the busy work culture, many people, especially

29. M (AW ST 3R N FTER HT A1 HSHA Teh A Tl 59 TS 2 | | _ the youth struggle to find time for weight loss programmes. 4
SAfHa, = FEAA & HROT, 9ga § AT, faRga 41, I5H FHH H I HRHAT D Anika was working in a multi-national company, wanted to join a gym for
o e e % Rroaud st 3 | 4 weight loss but could not find time. There is no good gym near heLly_)yse

i . ot s e o Y 5 o o T e oft, e One day, Anika was walking out of the office during lunch time and saw
i EUEH et 7 i an attractive poster of a gym which was near her house. Amka was
ST &
SLE T8 Frwre gedl off | 39 T S U H13 3rss1 | T8 o1 | T f¢7 5= curious to enquire about their weight loss programme. Next day, when
q‘laq & THY 98 319 ST & 918l gH @ Ul 394 T 5| 1 T AT T T she went to the gym, she was surprised to know about various schemes
3 39% T g AT | 3iFT 3T S5 T 9T HHH & aR) 3 qgars % oY 3G offered by the gym. They were not only offering 50% discount on the fee of
: weight loss programme, but were also providing free coach facility and
ﬁlmm,m%mﬁﬁﬁnmaaﬁmﬁﬁ?mﬁ%a&ﬁm S
ek 2 free protein diet for the customer. But these offers were valid only for 10
STvRETed 81 78 | 3 a5 UeH aTel HrEmA! 0 T Had 50% B 3Tg Ae . days. Attracted by these schemes Anika immediately submitted the fee
ngﬁmwwmm‘ﬂ%@alﬁmﬁwmmﬁqﬁm and joined the gym.
& | 37 AT & SR B mﬁm@gwmaﬁxﬁqmmm | (i) Identify and give the meaning of the element of marketing-mix
i) Py ML w 37 AT | : discussed above.
i) faquE SUURE Afa g+ Ud 39
(ii) The element of marketing-mix 1dent1ﬁed in (1) above includes various
i X fyaur frg 3 wrews # woigw 6 faftr dehteh afeiferd & | -
(ii) 3T (i) § 8= T | tools of communication. Identify and explain the tools highlighted in
3T =R # o aaiten! TR JehTHI STell 7141 B 37 Yeie 0d FHeTel | | the above para.
*66/2/1% e | *66/2/1% e [ P.T.O.]
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The demand for take away food bwa_smg day-by-day. P eople
working in mult1 national companies have to work till night very often

e L e
30. ﬁ?m%m@mﬁﬁmémﬁaﬁ (¢F ) ST & ain agd o W R |

TE-TER-FEl § Fm 0 aret W oA R arfrepsia: T @ S FO G 8

SR T T & Jrfreges R ¥ | GITIER HT AN I §Y A 3R it 3 @M ! and they are reluctant to cook food. Taking advantage of this opportunity,
WA TR HT T GG TR ARN f%';m | I GRT 3T uTaal a1 ol & W Amit and Bljoy started ‘Langar’, a take away food business. The food
T ITeH FH & HROTGHT Srfi?a & T | 4 becamé famous because of its good quality and standards of hyglene

A 4
@ﬁﬁﬁmwm&a%?wuﬁﬁﬁﬁmmﬁmm followed by them. .
Over the years, the business became very profitable. They decided to

3l W @™ H HI T . e
RIS Wit sverrt 3 fre ot Pk R | ot st g | expand the business by opening more branches in different cities. To
mewm@m@m@%mﬁmﬁ'dm'd“ |

JTet AT Y 37T T T | T TYi ) A e ot | 3 T ensure consistent food quality at all branches and to maintain the hygiene
| .
‘ . i l - e and quality they planned to import machines with advanced technology.

o 1% 7 fofar 32 W A @ R, it g i) @ ffed @ 7 O m The cost of each machine was Rs. 12 crores. They knew that this decision
T {40 Sge & Ara T R | has to be taken very carefully, as it involves a huge cost and that the
(i) I AT ¥ Iiq faciia Fvfa =t yg=Tie wa g Seei@ HifT | | decision, once taken is irreversible. ‘
(i) 390w (1) ¥ fore e faoig = mnﬁsra S 9Tt f621 1 U] ol THFATSY | | (i) Identify and state the financial decision discussed in the above para.
(i1) Explain any two factors affecting the decision identified in (i) above.
31. (a) = hRaT S Freferaa =il @) GUeRy : .
() YRYE S @/ (a) Explain the following steps in the process of selection : 6
Gi) = SR (1) Preliminary Screening

oo . 0 WA ' A —tA K
(11) SeleCtlon Tests SN T > | ‘ﬁ«u&

Gv) e T w i (111) Employment Interview
(iv) Reference and Background Checks
: OR
b) fr=faRea R-fefa Sicaredl w93 ; 6 . .
| (b) Explain the following non-financial incentives : 6
(i) ug-uidel (i) Status -
(i) TSP AT

| (11) Organisational climate

(iii) 9 HEHq
(iv) HHaTEl S arie

(111) Job Enrichment

(lv) Employee participation

*66/2/1%* *66/2/1%
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32. M IR, ‘g@m W‘{%mﬁmﬁ@%ﬂﬁmwww eﬂ.| ﬁ'@é@ﬂﬂa .(32/ Asha was runmng a business of producing and gelling pickles, murabbas

and papad etc. She was earning a good profit for the last many years.
Now, she wanted to add some new products in her product line. Seemg the

growmg demand of mlllets, she dec1ded to add some millet products. After

TC I/ AN A W o lmaxawm-ﬁﬁsﬁ@mmmm
0| ReE (A2 arr) ) wod g Hin @ 2@ g 9w 3 fiele IR A A

ot o | TEA AU TR MY F F 918, Io grn fn freiem e, TR @ il doing a lot of market research she found out that the demand for mﬂlet
& o daw e s &1 g feq wfa-feq s @ ot | @& 3 @] X T 3 noodles, pasta and ready to eat mﬂle‘t—c_ereals wasfl-ncrreasmg’—c—laiy by-day.
Sl # faRrear o $ R oo 3 s B TR $ R o 7 SE-g¢ mmia To give a dlffer_e_l_lt “taste‘an’d*to hav;unrqueness in her products, she
Wﬁﬁiﬁ'ﬂﬂm?ﬁ S U W S— PSP - | prepared a new tasty herb based sauce for cooking these products and
decided to launch this alo_ng._mth mﬂlet products in the market. 6
Ta fore 31men 3 10 srfiies nfien s w wm w s R o oy w9 CRCIE For this Asha hired 10 additional women workers specially trained for the
foru afdrfare off | T e ST HERI ) @A & g i 98 Ty 1 oft fop I same. However, desp1te adding more workers, to her surprise, Eoductlon
- SR T o | via_sfno_t upto the mark.
Concerned about this and to ensure that the activities were performed as
3@ sR | fuf~a o 77 gifea M % ferg o nfafafta & w=mer o AR AT per the plans and that the resources were bemg used effectively and
gd fifvaa wegt 6 wift & o GETEET T SR WHT‘@'EF Td yHEg @ AR @ | efﬁ01ently for the achievement of predetermmed goals, :Q}; appomted a
o, ST Y e, e @ g e | X it ¢ e Tt 3 T | sup\e'rflsoxi\l ablta Nabita monitored the activities and discovered that
s 5 0 P fw o T 3 2 2 g R - o 3R 31 HT AR - two if\the newly hired workers were spendmg the1r whole day gossiping
and dlstractmg the other workers. As a result the productlon was low.
T ST H ST G fareh off | TROTERe ST 4 BT | * (imate the functlon of management discussed above.
Q) i SR T ¥ H1E P IREINT G 39T Jeord g | | (ii) State any five points of importance of the function identified in (i)
(i) s (5) 3 T e T % We 3 e ute farga 1 Seera AT | above.
J
. , 6 State any three advantages and any three limitations of formal
33. (a) Sirsi G 3 o i et wd el i et o Seete T | | 5
organization. 6
i OR
(b) E3A F HHTHD R ¥ foredl ©: amvl %1 Seorg hifog | 6 ' (b) State any six advantages of functional structure of organization. 6

*66/2/1% [ P.T.0:}
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TefTeTeeE’ FEE ST | I o areh uedd e &1 B e i
T Jee He 3 e s o widt Frdvr e ot <6y ) <) e ot | T
S I T G T | A e e 3 e v Prefon w0 F fg A T Hw
T ST B QS ST A g T % T w e i ke e
Y | 78 395 Fore T =Ean W A1 anuR qew Putia s R W gedd e i i
et | Seft w9 et g e 1 7 ST e % SR % T B R
S |

Taf Terdet el  saaara i Hh wherat o qw it FE res) U qut RV
¥ FOT IR AT TS el w1 ew whweahtial & gedl & S TE | FRH AT

mwﬁmﬁ@m%mﬁmﬁ&ﬁ%maﬁﬁ@mj

e feam | _
mmﬁaﬁdﬁsﬁwm@@%wmﬁmﬁnﬁmﬁ%
TeTEe} wiTeet 1 Hed-Frettor s aa T e 3 e H T |

= [ Wmm ———
34. ot g whn ®) A T R T A I Tt gy e R I FA F 10

o~

4t
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éé Ravi and Megha started ‘Energyli%hts’ a company manufacturing energy-

efficient LED lighting after realizing an iincreasing demand for ﬁtheﬂ same.

e ——————— —

————————

Manufacturing high-quality LED lights with some unique features
required subs?antial invegtment in technology and high-grade materials.
This pushed up their cost of manufacturing. To determine the price of
their LED lights they not only wanted to cover all costs but also wanted to
earn a margin of profit over and gbove the cqsts. This will set for them the

minimum level or the floor price at which the LED lights would be sold.

Ohe high demand and the utility provided by these lights will set the

upper limit of the price\

Though there was enough competition in LED lights business, even
then they kept the price of their lights higher than the competitors
because of good quality and its features. They justified the higher price
because of the product differentiation and unique methods of advertising

and sales promotion etc.

Quoting lines from the above para, identify and explain any three

factors which were taken into consideration by Ravi and Megha to

determine the price of their LED lights.




